WREO

[4548% ] [ ]
Bk f(2) =2 T2V, =2 ITHB MO HEEER > TRO X, ROBEKOERKE, EHio TR L,
1
f _ (1) fle)=——
F2) = ]im ) -t 21 2 5
A0 A _F((;Q: L -H:<+ e
A6 -R,
= HW\ haf — Iz ‘ ,
?>0 ‘@ — | — " T
= e —% ”
fr0 R IBAR + =)
\ = ‘\UV\ _J~ xaC%ﬂ—ﬁ)
i | R, B
= ' ' = 40 = AL &E+R)
220 Iop + 13 24z | ‘
= II\W'\ ‘__] - = - Sy2
[EROEE] A0 2% (L+h) .
B f(x) =z DY F70RE, V3) BT pEROMELRD L, @ fl)=vE
,Hiy — 11" o= liw —E(;@\-R)*‘%(Z)
f-% _1@
$eo - L | p—
- L e
_ \ ] 420 K
2{x o _F (3)= N5

U4 TTEE & i)
B flx)=|22—1] it =1 TEOTEETAVE & 2T,

e F0HR— 10

A= +0 R
N @11 -0
A s

e
< |28+ 47
< AR L

R g
_ L(W\ \ﬁllﬁ'{‘ll
A940 *
(UQL*HO hg\“%>
= e [ R+2]
844
¥ A\ R+ 2]
ﬁtel':\o R
E&‘?-O lﬁ\"“ﬂ)
= Nl —R[At2]
ﬂ-hn_ A,
- - —lﬁi+2] ‘ . SN
K —Q - - i%] z “T/\?ﬁ’DVlP;Y Tl
4
= — 2

= [lwm (W—E)d%ﬂ‘rfi)
#70 R Hx-r—k —{-H)

_ l“‘”\ - f

¥ Vol m —[“-I-?(

- 1
21z

[a5]
ROBBEBLSE L,
() y=(x+1)x3—42)
Yo (X3 42) 4 () (BT
2
o xP_dq 4 37— dwe 3T

2
= 4%+ 3x 5%7(1474/_

2) y=(32>-2)(2%+2x2+41)

Ylo o (X2t D (3x=20(2x+
e (P b bA+ 6 3 F =2
= {J_O(3+ ?'12‘+ 11_217

1) y=(x+2)(x—1Xx—3)
f

Ul = (=D (-5) + (e D(2-5) + (3 2) (2~
- X[ 45 43— (04 AL

= 312:—92’,‘—7// "

(2) y=(x -1} (x+2)X2x—1)

U< 3 Cap) (25— D (D=1 + 022
= 2A (QQx°+31-2) + (221t l)
4 2(x P42 = —2D

- S fTT x5

—




WREO

[7]
KOBIERSE L,
O = ® =23
/s 2
l 223 y ! 2 (43) = 17 |
U T I Ay b
<z xa
< — 3 208 6 A—
CD\x 3) I’/ Ci"(‘ 3) 2
L7t 6 X
® y=2=2 T TR
22 +1 Cx+3 i
o205 —RAa-p2x !
2 - a5
L
S R T G B e
(=07 (7 (D%
77
(8]
KOBHE BT L,
M y=t = x @ y=—% = _Ay?
P x2 -
I —2 / -
Y'= -2 A 2
L _ @
R e
1
@ y=7% = L oy—3
3 3 X
/ _
= —J 4
N
o4
—
[9]
BB A X,
- 1 -1 _ ~2
M y=(@Ea+1) @ = = (e

e 430241

= f2 34+ 0’

KDL S L,
() y=@22+5

- f4 (2t
— (¢ X (24745
4

g~ —2-%& (44D~

_ =

a3y

77

@ y=(1-2+%° 3
/
= (1=222) (1=2x)
= —423 (1243

= /2 (] -2z
A-
-3
0 gy = ()
r = —_
4l (2D =360 O i
- =67
(2= 0%

RSO EE VT, ROBEER#ESEL,

1) y=¥x

2 y=¥x (x>0
A=y
2
Fra

4

K DBIE R B
L) y=vF = o =

5./.,._\\,(1‘*.1

wOEEERSE L,

2
) r=¥=+1 < (z+41)7

\

.2 F
7 E (AL +0
i

3 ?JO(-H

L
77

WOEFEZ WG X,

(1} y=cos2zx
! .
g’ = ) -t §¥U\2 py

= sl

(3) y=sin?x

\@';(ﬁ}ax)f_uest(

~2smAcgsA

1
sinx

o A
¢ Shp™at

G »y=

/4
77

Ty
l
ATy
H
7
3y
S
ra
@ y=V2* = ;(35
b*'——»%%‘%
2
DA%

4
@ y=vI—F = (+-x°)=
) /
H\f _ __)l:(q’__l.a) ._ZC4~“‘-12)
—-2=

-

I =g
— X

A=,

=

(2) y=+2sin (3x+%)

yl_ 315 ros C;x—% 2—'))

/
v/

@ y=tan?x
/
laLr7— (:F)Lh;f) —ZT—DLV\:Z
2 Tan AL
O%-}i : L
(6) y=cos?3x

W o 2 fysza0lCos 3
= \“",é S‘\[nBJ( CQS?X P




WIS

OB ML L,
() y=zxsinx+cosx

4= sty + LoosA —sin

(2) y==xcosx—sinx

Y s — L da 1 —oc A

= A W0s2 - —xsin X
_w_*%. /5;
KOBHL M E,
(1) y=log3x (2) y=log,(4x—1)
'
%(3 LQ'DL) N l b_l_ 4_
3 Lo AA— Doy = :
4 ¢ = .

{3) y=log(x%+1]) (4) y==xlogx—x

>
\01:.—3(&—:("——— %!}\Oaj-\—l —H‘
.1_.
_ 4
- 193 4
—
WO EHSE L,
1) y=logl3z+2| (2) y=log|sinzx|
‘0": 8 13 J__ COs 7L
z - InX
24t b, Sin .

@) y=log,|x2—4
( 2

(424D la%al

loglyl DEEIKEFIALT, KOS EL,
L y=2=Yx+1
gl = oy 1) 3 g o
G 5 (e
o Y )
A S R
) 4 3o
S CRN) R
Sa(x+1D
o Jab
3 A+
plo Txxhk _rxém

3x (x4 ()

VESEY
3 ey

o

{x+2)¥x+ 30
2241

oy 191 = lgy [+2) T3 1g [143] ~ log >4 | |

&7 T Hw N
f
%\ - El—'f i E_i_:;’ PN
(2 3) (03 (1 +DCCH D) —2 2 (x+)(H+43)
CERSICSEUC A,
B ad 4+ BB +baCtl =247 ~(0 L1 27
(xx+2(xt 2 SN,
212-x2~ g+
(ot ot DN |
(£ %25(1%5)3
X |

(2 y=

{f

=

/ 2% —*—% x+1
‘= (i-\-.:_)(i’\‘3’>(12+‘)

(x+3 7 (227 —x%8 :t+9)
(> D=

Vv
4

(3) y=z55 (x>0)

o5y = Slax log

Tz
\
,.‘?_J_ = (05% (93% L sinX
e 2C
| ol
| i
' = (C%ﬂli’? £+ §m7(> g S
-
/
7
ROBFEMSE R, 2L, () © a1l TRVEOER LTS,
() y=e @ y=e
r ey ox?
h=2e 41D
= —2uET
7
(3 »=3* 4 y=2-°%
‘ y= 315 27 g2
5‘”3)( 1%5 %
~ = 32777 Jog2-
7
(5) y=zxe* 6) y=@2x—1)a
v
g(;ej‘{_]%% 9‘=l&x+@_1-\\)a /Oﬁ&

=T\ A) )

<07 (> (E:H)(@go\ )



WD

ROBHEE M X,
() J’=1—+io? (@ y=(logx)?
/ /
r (1=cos) ' =(log ) 2oy
- Urce” > loa A
sta A A .
(| + o500
?;/
® y=log| 2t W r=—t
1
>{0g|rx+||~l03li+z\ ) eX(eT1) — g
¥ 2
X \ l (et
= x0T X2 \
= . - ! N (X4 O~
CCIPICE D - 7

rr4
77

{5) y=sin?xcoslz

Y =[oln ) 2efntes2o + 25071 (—ohn2z)
= 2 glnicosqcos 24 —29M astN2 X
= 9 S%W2d0052H —2shnTx slw2 7
= Sinza (cosox — 2stn™1)
= Slnay ( =25l —29{n?>)

= StazaCi—45ly > %)

(% n dMBE)
ROMMIE T, 53 KECOEBEERDE, LEL, ()0 aid0 ThnEkE 5,
1

M) y=axt @ y=5 =
ld[ = 3&11 / -2 __‘__
%ﬁ y= 1= 2
= 641
p k”— 2;{"3 - _".3.-—
t= ba L&
lﬁrq: _ _i-_‘F _ —-—,[;
Vil
(3) y—cosz (4) y=logx
= ~Sta { ' s
A
o —os1
H#E _HﬂL
h\f{[ - g,‘[/] ;t 7(2
T 2
S
6) y=e* 6) y=e*
‘g’f‘:e;\’ A lﬂ!:-—Z'e_z?l
. : . n _ A
¥ =g 7= ge
—2 2
i-et, "=

7 ' ' 77

Eﬂ
U HEBEDE n POBEEE RO X,
(1) y=x" (niIToER

5"7'1/\'1“—'

g = nen—1) 2
n—>

B = (n -2 X

W2

(42
Lyt = n
Wi
74

gt = nen-pm-2) - |

@ y=e*
3|; 7617(
47 = 2'e™
%'/// _ 23 Qlj
R h{(m) :_'l:.h) ,6:»-9(

[ s b W]
ROFBATED OIS x OE y I22NT, % 2R &L

(1) 224y2=1

G0z A 2

_p("l‘-a—
S
T

(2 #—y?=1

ﬁﬂZz di?@&?i

DL LTHRE,

I
- Ll

__,775

{// ////
, 2 ¥ ¢
1) z=2£2, y=21—1
dt dy
dr =T gt L
ola
% L _at _ 2 \
pd - N
%,(_ 4T v
.y
(2) x=cost, y=sint
j%:-— —slnt ,ﬁ%= cosT
d s
s oft st
AT T dd st
0{_0 77
m(w%}":e THBTLEEANT, ROBRERS L,
. Iy . 1 \»
(1) Lim{l+— @ lim(l+-—
miedfwmfed)
~ fowm 1+ L
= }[\;l;\ {[lfn H 2n=T tﬂgkc
> I L
- _6_7;4 T;v;o (1‘ )
0 infes2)
nN=21 H\'\C

’cﬂ NG \*) B f;%



